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—=Write the-equation-of-the-parent-function-and sketch-its graph:
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List the key features of each of the following graphs. Use interval notation when necessary.

—r

Domain: C"OO ,-‘«og} o
Constant: N A/ 8

B_a_ngg(—m/ L/]

cintercepts: (-3,0) (| 0)

Increasing: (-— a:)} - ,>

1

<

y-intercepts: (O) 3) "5 = oS0
Decreasing: ( _} £ 603
/
Max/Min: W\CLX (_ IL/)
Positive: = | '
Postive: (-3,
Negative: (-60) ’3} U( l/ +JOB
End Behavior:
Left: x - e Right: X—= oo
- J> - V> -0
&
Domain: (-m} L{] 5
' Constant: NA F- &
—— 3
Range: [O, +®) e -
x-intercepts: (L{ 0 1
Increasing: NA{ ! ) *3 5 -4 -B-P _]4 3 4 Enb
' y-intercepts: ( 0 &) 2
Decreasing: (_ m} L{) / j
Max/Min: y\/"'\v\“ (L{/ O) E
Positive: (\.m "'[) ¥
]
readtive: NA’ End Behavior:
left: X ) " Rights | Jpjep
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o Domain: —“C a’)l +®) » . 7 A 7,7_ B :“ 7 o

Constant:

\ R

Range: (—'60/’\‘00\) /]
x-intercepts: (3jo> (L/ 0‘) v \
Increasing: (_5/ \) e E L ' T

y-intercepts: (Oj 5)

Decreasing: (_m/ __3} U (l/“"‘(ﬂ\

Max/Min: NOV\L

EﬁM;@g%H}
Negative: C L{ / +OO>

End Behavior:

left: XD -G Right: Y= 40
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Domain: ( - ml ‘('&D\ ¥ At )
Constant: (-7_ ; 3) -i

Range: (‘@/ 5—]
xintercepts: (-~ 5N (59
Increasing: ("ml -Z>

y-intercepts: (O g) (. - ":f AP W
Decreasing: CSI 'I’OQB . :_ \
dositive: / W\M' (~Z'3) ( 3) (0 3) (})3) (Z-j 4
oSt C S-I S_> oy a.cce,r\‘abé "5)
\egative:

C &, — 5) U(S- +CD> End Behavior:

Left: X’é - Right: )@M
\/—) - X>+w %
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“ketch a function that meets the following conditions:

Domain: (-2, 4]

Range: (-5, 6]

Domain: (-oo, 8]

~ Range: (-, 2] 1 . /.

Domain: (-4, 6)
Range: [-3, 5]

With at least one increasing and at
least one decreasing interval.
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1.1 Unsaved s>
v. 0/ AY
Domain: (-6, 7]
N Range: (-4, 5]
— % 3 s X i — - 3 fe— i X
-10 | 10
With a decreasing interval of (-6, 4)
and an increasing interval of (4, 7)
.67

Domain: (0, +00)
Range: (4, +0)

With both a vertical and
horizontal asymptote.
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